JL_

Addizioni fino a5 Nome:
Risolvi ogni problema. Risposte
D 2 + 2 2) 3
— 1.
2
3 5 + 0 4 4 3,
4,
5.
5 1 + 3 6 2
— 6.
7.
N2 + 1 8 3 8
)
10.
9 4 - 3 10 5
11.
12.
1) 4 - 4 12) 3 13.
14,
15.
13) 5 - 4 14) 5
16.
15 4 - 2 16) 3
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Addizioni fino a5 Nome:  Soluzioni
Risolvi ogni problema. Risposte
H 2 + 2 =4 2) 3 = 5
. — 1 4
2. 5
3 = 4 - 3 5
) 5 4+ 0 =5 ) 4 = 5
4. S
5, 4
5 1 + 3 = 4 6 2 =5
— — 6. S
7 3
N 2 + 1 =3 8 3 — 8. 4
9. 1
10, 0
9 4 - 3 =1 10) 5 0 0
— — 11.
12, 0
13. 1
1) 4 - 4 = 0 12) 3 0
14. 3
15. 2
3 5 - 4 =1 14) 5 3
— — 16. 1
15 4 - 2 = 2 16 3 1
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Addizioni finoa5bs Nome:
Risolvi ogni problema. Risposte
1) 2 + 2 = 2) 3 + 2 =
oo 00 oco oo 1
@)
2,
3) 5 + 0 = 4) 4 + 1 = 3.
(ONO) OO @)
(ON©) (ONO) 4.
(@)
5.
5 1 + 3 = 2 + 3 =
o 00 00 00 6.
@) @)
7.
N2+ 1 = 8 3 + 1 = 8.
(ON@) (@) (ONO) @)
o 9,
10.
9 4 - 3 = 1) 5 - 5 =
o0 00 oco oo 11.
(ON©) (@) ONO) (ONO)
@) @) 12.
11) 4 - 4 = 12) 3 . 3 = 13.
OO OO OO OO
(ONO) (ONO) @) @) 14.
15.
13 5 - 4 = 4 5 . 2 =
00 00 00 00 16.
(ONO) (ONO) (ONO)
(@) (@)
B 4 - 2 = 1) 3 - 2 =
(ONO) (ONO) (ONO) (ONO)
(ON©) (@)
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